SWITCH PROBLEM INPUT DISPLAY
0.

F 246-7= 1.
5/4A  0.02+0.03-0.01= 0.04
up 4 2.7X9+7= —-3.4715
3 4x(5+6)+3= AEEXEEREE 14.666
F o 3= OP@@EE 0.66666666666

F BACKSPACE - — —> 0.66666666
Ut 2.2+3= @2OEEEE 5.
4.6+3= @OEE 7.

542  2465-5.73= 0OEEEEOEEE -3.27
®E0EE 3.97

w A @OOXOOEREE 3.41
E0O@E 8.83

5/4.4 OEEE 1.1667
® 1.3333

F EEGE 8.
EEEERE 2.

@ 8.

®EEEG 0.04

F 20X25%= @O 5.
5+20%= EEOOQ® 25,
20X(1+15%)= @O 23.

20 X(1-20%)= POEEO® 16.

F o 100+(1-20%)= OLOEOEEO®EW 125.
25.

F 2X3=6 M 6.
-) 3x4=12 M 12.

+) 4x5=20 M 20.

14 M 14.

@



